BERWRZEFEE

B EH27F4818 E FH2843H31H

BEEE FEA) RE(B) =8 (A)-(B) ik
EEFEICLDINE
IRA
SEIIRA 4,100,000 4,145,755 A 45755
FHEUXA 7,268,000 7,704,468 A 436,468
HEIEIRA 177,427,000 173,028,600 4,398,400
ZEEUILA 546,213,000 541,759,819 4,453,181
RFEUIA 354,000 361,986 A 7,986
EEEFIA 17,859,000 10,802,468 7,056,532
SEIRA 53,951,000 49,865,367 4,085,633
SHEEILA 1,591,000 1,075,846 515,154
N ERIRIRA 213,502,000 181,321,311 32,180,689
A ZIEFEIA 6,907,000 6,830,159 76,841
EEEUT—ERZEEFEILA 50,368,000 53,963,226 A 3,595,226
HESZERPEIA 34,425,000 34,191,393 233,607
FARIEZE9FI R 0 341,670 A 341,670
HARR #2:8 B {4 £ EIURA 2,160,000 1,495,000 665,000
SIF EERLEIRA 6,024,000 4,461,751 1,562,249
ZRHDIRA 3,473,000 3,517,859 A 44,859
iiiﬁbﬂl)&%ﬂn 1,125,622,000 1,074,866,678 50,755,322
ABEEXH 854,791,000 779,492,348 75,298,652
55 E R 31,540,000 28,375,909 3,164,091
EXEXH 115,368,000 89,289,881 26,078,119
ERETH[—BREETH] 121,823,000 103,296,104 18,526,896
AT RIEEETH 6,907,000 7,018,314 A 111,314
S EEERH 20,019,000 13,995,640 6,023,360
HESERIPEEXE 9,442,000 9,454,485 A 12,485
EEXH 10,837,000 10,836,418 582
eI H 3,485,000 2,690,622 794,378
S A 29,318,000 29,363,899 A 45,899
BHEERH 0 34,000 A 34,000
ZTRHDZH 3,610,000 2,958,184 651,816
EEFEIXHE(2) 1,207,140,000 1,076,805,804 130,334,196
EEFHERINEEZEQ)=(1)-(2) A 81,518,000 A 1,939,126 A 79,578,874
MR EEEFICLDINE
IRA
MeER R IEEURA ST (4) 0 0 0
X
BEEERSZIHRUVEAZH 3,199,000 5,272,399 A 2,073,399
MR SR EE X 5T (5) 3,199,000 5,272,399 A 2,073,399
MR RIEEERINTEZ(6)=(4)-(5) A 3,199,000 A 5272399 2,073,399
ZDDEENCLDHINEZ
IRA
A FESEERURA 17,190,000 9,805,458 7,384,542
ZRHDIRA 1,344,000 1,344,172 A 172
FEXEXPEBEAZINA 179,020,000 103,686,528 75,333,472
B a XS EEAEIRA 50,000,000 48,230,110 1,769,890
ioﬂimmﬁjﬂw\ﬁ @) 247,554,000 163,066,268 84,487,732
BAUESEII X HIEITAES X H] 23,350,000 25,994,195 A 2,644,195
TN X H 5,472,000 4,998,580 473,420
SEXRTEBAESTH 180,781,000 103,686,528 77,094,472
X o EEAERH 43,189,000 48,230,110 A 5,041,110
T DD EEIZ HET(8) 252,792,000 182,909,413 69,882,587
ZTRMDEEERINZEZE(9)=(7)-(8) A 5,238,000 A 19,843,145 14,605,145
FiE X H (10) 0 0 0
LHERINZEEZESET (11)=(3) +(6) +(9)1 A 89,955,000 A 27,054,670 A 62,900,330
ARSI EEERS (12) 251,392,000 348,946,606 A 97,554,606
YR EEERS (11)+(12) 161,437,000 321,891,936] A 160,454,936

LEERAM+@WO+D=A

1,373,176,000

1,237,932,946

135,243,054




LEEZTH2)+(5)+(8)+(100=B 1,463,131,000 1,264,987,616 198,143,384
UEEEE A—B A 89,955,000 A 27,054,670 A 62,900,330
HAIEERHE (12)=C 251,392,000 348,946,606 A 97,554,606
FEXERS A—B+C 161,437,000 321,891,936] A 160,454,936




